https://lwww.leads4pass.com/1z0-1045-22.html

L Qads 4 PQSS 2024 Latest leads4pass 120-1045-22 PDF and VCE dumps Download

170-1045-229%As

Oracle Warehouse Management Cloud 2022 Implementation
Professional

Pass Oracle 1Z20-1045-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/1z0-1045-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest 170-1045-22 Dumps | 120-1045-22 VCE Dumps | 1Z0-1045-22 Braindumps 1/4


https://www.leads4pass.com/1z0-1045-22.html
https://www.leads4pass.com/1z0-1045-22.html
https://www.leads4pass.com/1z0-1045-22.html

https://lwww.leads4pass.com/1z0-1045-22.html
2024 Latest leads4pass 120-1045-22 PDF and VCE dumps Download

QUESTION 1

When creating an Appointment, which three "Matching value type" selections can be used to create the Appointment?
(Choose three.)

A. License Plane Nbr

B. Load Nbr

C. Dock Door

D. PO Number

E. Advance Shipment Notification
F. Trailer Nbr

Correct Answer: BCD

QUESTION 2

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.)

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order.

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location.

C. Areceived IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time.

D. A batch number in the Batch Management Ul has to be always linked to an expiry date.

Correct Answer:. AD

QUESTION 3

The above diagram shows a typical Third Party Logistics (3PL) structure. Identify the Facility, Company, and User
levels, as applicable, in sequential order (that is, the proper label for box 1 is listed 1st in sequence).
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3PL Facility Support - Sample Hierarchy

A. 1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3, 7=Facility 4
B. 1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3, 7=Company 1
C. 1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility 4

D. 1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility 4

Correct Answer: C

QUESTION 4

You are the inventory control superuser of a warehouse and need to audit all the cycle count activities done by the
operators before they are communicated to the host system from WMS Cloud. You are responsible for the cycle count
functionality configuration of the warehouse as well. This warehouse was newly bought by your company. Your
company is a 3PL and this new warehouse will be used for a new client of your company. Which four tasks do you need
to complete? (Choose four.)

A. Create a Cycle Count RF screen with the parameter auto-approve-mode set to off.

B. Audit the Pending records in the Cycle Count Adjustment screen.

C. Create a Cycle Count RF screen with the parameter auto-approve-mode set to on.

D. Set the company parameter INVN_ADJ_APPROVAL_REQUIRED to yes for your company.

E. Set the company parameter INVN_ADJ_APPROVAL_REQUIRED to yes for the company that you are configuring.

F. Set the facility parameter INVN_ADJ_APPROVAL_REQUIRED to yes for the new warehouse.

Correct Answer: BCDF
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QUESTION 5

The customer wants to change the items and quantities on an existing order in the WMS Cloud. Identify the method they
can use to achieve this.

A. The customer may send a "Cancel Order" transaction via integration just before the order is shipped.

B. The customer may send a replacement order by sending a new order and referencing the original order in the "Order
Number to Replace" field prior to shipping of the original order.

C. Once the order is Shipped Confirmed, the customer may adjust the items and quantities via their maps.
D. The customer may change the items on the Order in the Ul at any order status.
E. The order cannot be changed and must be processes as is.

Correct Answer: B
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